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EQ4AW W2, Day=3 (2025-05-26)
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EQ4AW

BYIE) | BRI (F)) | s (EA/#R) | XS SRR

08:35 42 30.0 BE| 1Ri%@08:35 RHEIZF (KREERE)
09:35 42 30.0 Ag| 1Ri%@09:35 KENFEF (KRAEEES)
10:45 42 30.0 B5| 1Ri%e10:45 KRHEF (RAEHS)
11:50 42 30.0 B Ri&e11:50 KENFEF (RAEEE)
12:45 42 30.0 AE| 1Ri%e12:45 KEEF (CRAEES)
13:40 42 30.0 B5| {Ri013:40 KRENFEF (RAEREE)
14:40 42 30.0 BE| BRi%e14:40 RHEF (KBAEZRS)
15:45 42 30.0 Ag| 1Ri%e@15:45 KEEF (KBEES)
Z3t+| 336.0 (8%) 240.0 323 %EC: 1560.0, PH: 6.5

large discrepency for begining water status (21:282.0), set to 21 ml.
BEK 4[] FRECHUIR SR K.
REREBHHEREC/PHIETRR, W] BERIMAEEUR R



EQ4AW W2, Day=2 (2025-05-25)
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EQ4AW

BfiE) | FEBIETK (D) | E=E (EH/E) | XK R

08:35 42 30.0 Ag| 1Ri%@08:35 KENFEF (KAEEES)
09:35 42 30.0 Be| 1Ri%@09:35 RHIMIEF (KRAEZRER)
10:45 42 30.0 B5| 1Ri%e10:45 KRHERF (RAEHS)
11:50 42 30.0 Bg| {RiZ011:50 KENFESF (RA1EREE)
12:50 42 30.0 Be| {Ri%012:50 RHEFEF (KRAEZRRE)
13:50 42 30.0 R5| 1Ri%e13:50 KRHEF (RAEHS)
15:05 42 30.0 Be| 1Ri%@15:05 REFEF (KAERE)
23t| 294.0 (%) 210.0 ZHKEC: 1560.0, PH: 6.5
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FRV (ml plant-1)

EQ4AW W2, Day=1 (2025-05-24)
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